F3-4 WRIBE(FETEE 20155 ERIH)
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Ne. BREH RERS g T Ml BE  c (@A) k(m)  AGEM) K5
1 HFmER IR R SX #t B - EBEETERILRR 1 38,000 183.46 350
2 KR EHET TS #t HR #BERXRKRZEE 2 33,000 98.95 250
3 Z i E FHET LF TO #t B REHEATLSF 1 26,000 216.98 100
4 THENEY R FRET EK #t B BB RET 3 25,000 219.71 * 400
5 $@ATHZJIINLLET LK #t FH  FHETZIINWET 1 25,000 294.26 190
6 RN X =#HET SX B RN X=AARTF Y EERTR 1 25,000 327.83 200
7 9=y ——gE @ SN #t B —EmHEl 1 23,500 148.79 120 20
8 L EFET T %t HWER  HEERA/NIFr L 1 23,300 96.64 250
9 MNZ AR LK %t B MBHEHAME 1 23,000 202.51 180
10 #'-7' V752K B ESouth TH %t e IEEmRBILL 1 23,000 151.55 200
11 n=PIVh =7 vt sQ #t B RETHEET MR 2 22,000 170.50 120 * 150
12 SN s R ET LK %t A AZTHEANRET 1 20,900 197.51 209
13 Y=y =) F X FAER SN %t FH LZoHETHPFRXFLHE 2 20,000 97.55 100 50
14 £ HHKIGIRET LK #t B FHEHMXEIRET 1 20,000 196.43 180
15 MNEHREFHEM LK #t BH  HMEZHAKETFEM 1 18,900 172.58 170
16 ¥ HE i FHh AT LK #t A FHETEHhE 1 18,000 184.97 145
17 XFIRF/INE T LK %t B AZEMA BT RFINRF/NE T 1 17,900 179.07 160
18 BaJ A LLBTON3R/INE A7 Big LK #t B A LCETINR/ING 7 BiR 1 16,000 149.70 140
19 A FHh AT LK #t A FHETEHhE 1 15,950 186.22 135
20 EMTHABEREE S SX #t B ENMTERESHE 2 15,840 174.00 150
21 5% v/ \IEHET LK #t B HZTH/\MEEET 1 15,000 137.62 130
22 FHEHRILET LK #t A FHETRWE 1 13,000 177.00 110
23 MM EEFINH LK #t BHM  MZHBARTFINHE 1 12,500 142.15 120
24 5=y -y R R FEEEH CE #t #E) MHEBEETHhRAXBAER 1 260.48 390
25 THELA U RIIE S PR #t B REHHBEEERER 7 246.77 350
26 REAE TH #t #HmEN NETHRERREARE 1 190.15 300
27 ZE FET TR %t BE /N EREEEE 2 108.75 250 %
28 —EETL SN # B BHME—EHEL 2 155.71 100
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